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Week 3, Lecture 2

Oct. 4th, 2023
Prof. Ben Kilminster




Question

What is the direction of the angular momentum vector for the second hand of an SBB clock ?

into the clock
out of the clock

around, in a circle

Key figures

Participants 167

Max Score 1.0

Number of correct answers 52

Number of wrong answers 115

Item difficulty 0.31
Average score 0.31
Average completion time 2 min 29 sec
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around, in a circle

v 2.(1 points)
into the clock

x 3. (0 points)
out of the clock

x 4. Participant doesn't give an answer
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